ADDING & SuBTRACTING
Po N NO M (ALS
. NAmE | Din:

4 Use If{e_ « ruL&LS o Sub‘{'md’ﬁ(
(Diibuta "~

@ ...

Le» Add O osi
. nlo 6(5&5&“\‘5)

e Combing. lika focms 4

¥ -BI_'*I

Do Q% §-127 (obd)
© Add. '

8. (3x+1)+(4x-2)

9. (3x2 +5x—4) + (x2—Tx+2)
10. (—y2+7y=5)+(2y*+7y-4)
1. (297 =392 = 1) + (=5y2 —4y3 + 3)

 Add.

2. x+7 13. 3y?+2y+ 8
+5x +2 +4y2+ 7y + 11

14. Sx—-2y+6 15. Sx?-3x+ 7
+3x—6y+9 +2x2—5x—12

6. Sx?47x— 9 1 3y2-8y+3 4
+4x2—8x+ 11 +2y°+8y-9

5z+46-32z2) + (4 - 7z+2z2) J
19. (32 + 292 -5) + (42?2 + 3y2 - 11)
20.(2x4+7x—5x2+3)+(2x3—7)

sz{il.ﬁ

Add.

21 (Sx?+7x—7) + (4x? —8x + 12)

22. (32 -8y +3) +(2y?+ 8y —-9)

23. (m3 + Sm?2 + 3) + (4m? + 7)

24. (22 +x+3) + (22 -6) + (x2-2x-3)

Si;wJ{fj;. :

250 (4a? +3ay - 297) + (=2 = Say + 7y2)
(Syr+3y~7) + (=292 =5y +8)

27. (3x2y — 2y + 492) + (x2y + 92)

2

178

“Tx +C

Date .

Practice B'o \”C{# | =25 (OBB)

Write the opposite.

Lxl+4x+1 2.x2-2x-3
3. 2%+ x5S 4, -3xr=Tx+2
Subtfact

5.(3x — 5)' (x+2) Yz +5) ﬁ(;x\‘—l)l
T (x+4)—(—x— 3) 8. (3x-5)—(x+4)

Subtract.

9. 5x2+4+3x -5 10, -3x%2 + Sx—7

2x2-S5x -4 2x2+3x -3
ll.—4x2’—.-4x+3 12 x2 - Sx+ 1
—3x?+4x-8 x2—Sx+6

14, 12x3 +3x2 - 5x

13 22 + Tx -1 .
93 +4x2—4x

x2+4x+ 1

r
Subtract.

15. (292 +3y-5) - (2y* + 4y + 6)
16. (452 +5-2) — (=352 +5+5) .
1. (2 =5y +3) = (=2y?+7y+5)

Subtract.

18.3x2+ 7x—3 from 2x2-2x+3
19. 5y + 7y ~5 from —2y2+3y-2
20.—t2+ St —1 from 2¢t2+3t+6

Simplify.

21. (=57 —n—8) —(-2n2 + 7Tn-3)
22. (4 +2x—x2) = (3~ 7x? + 5x)

25. (-2 +4t-7) - (312 +4: -2)

24. (x2+ Sx+3) = (=22 -Tx+ 11)
25. (3m? + 7m~8) —(—m? + 7% - 1)
26. (=5y? + 7y = 12) —(=3y* + 4y - 2)
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Pocinamials

NAW\E

Div:

-;( Use \[our erOV\eV\“l‘ cules & .AMMH—Q\( t+5 oc BN\oLg-k

Dare:

Practice bo Q* Leﬁ‘f Side. (l 47,10,13. )

Divide.
6x

1.

4.

36m

%3

Practice

Multiply. bO Cl LQ,Q'* S (LZ_(‘HJIIO )
1.5x X 3y 2.2mx3n  3.55%x7t

" 8.4ax6b 5.3x2 % 2y 6.4ax Sh?
"}.4bx3c 8.3ax2b* 9.6s5sx%x3:

Multiply.

10. (3x)(2y)

11. g}a)(4b) 12. (5x2)(2y?)
13. (S5ab)(3c) th. (4x)(3y)
16. (242) (3b2) 17. (32)(30)

15. (6xy)(52)
18. (72)(5b)

Multiply.

19. (3x2)(=5y2) 20.-213(-44a)
~21. (6ab)(—-2c?) 22. -84%(3y?)
2 23.(5x)(5y2) 24. —-12x2(4y?)

Multiply.

_25.(—2xy) (=7 xy)

.27 452¢3(-3s1) 28
< 29.-25213(=55%¢2) 30
Multiply.
~31. -3x%yz(Syz) 32.
- 33.-2x2(-2y%)(z) 3a.
~ 35.-5x(-7y)(-23) 36.

. Multiply.

~ 37 (4azx3z)( 2x3y2z2)

38. (24 2y
. 39.-5a263(-24%h?)

Multiply.

40. (3abc) (—4 abe)( 2abc)

*22) (3ayz) .

. =5m?(=2mn)
. Z3abx(~2a%b%y)
.=Sxly?(4c2x3y?)

~2x%(-3¢y?2?)
=5x}(=7y)(-22)
“6y(~527) (322)

Example;
) 2 28xy <y

77 -'7\(
Hy

Divide.

Divide. |

9

12
7. —4? 8.
-32b

10. "y

B

15xyz
Sxy

36abe
16,' —4a

13. 14.

17.

19. 25xy + Say
21. 21xyz + 3xyz
23. 3675t + 37s

25. 52 pgrs + 13 ps

SiMplﬁ.
27. Sx%y? + 2y
29. 1877k7 +(=95%)

31. 7a°b%c + (=7 ab)

Simplify.
104%h°
Sa'h?

22xy%2?
Llxy’z

33.

34.

36. 37

Simplify.

lesy

39. SO,

~15a
5
-30x
6
~18y
—-40x
40

—18ab

—-.lixﬁyg

L_5‘:".53,':‘
20ab5¢
15atbbe

. 22ab < 11ab
. Qamn + amn

.39kl = 13kl
: Sldefg + 3eg

.—=3a%b% ab
. =203yl +
. —8x2y

N I

12

12pgr ;
—157st
3t

15.

18.

4aly
?+ (—229%)

\o.:

E romel e’
m (“ 2(3 A‘iyqu

=z Ga k’xy

- a1 () (24y72) (~2957)

32, (=27k1) (~3jk1 ) (~47k1) ~9x'y’

_~3x—§),?




